MYCRVZSx evsjit ™k miKvi

“vbig miKvi i,

08bs civamx BDIC , ivgMA, imivRMA|
BDic1 ewlK etRU/2014-20158Bs

tRjv: imivRMA, A_ eQi : 2014-2015

LiZi hig cieZiA_eQtil eRU(UKY) PJiZ A eQiii | ceeZx A_
bR Znexj Ab'Wb" Znexj g erfRU(UKY) eQti
cKZ(UiKv)
1 2 3 4 5 6

nitZ bM” 450 450 456 | 16,100/=

e'istK Rgy

tgW cvieK tRi

culid

Ki Ar'yg 2,50,000/= 2,50,000/= 2,00,000/= | 45,000/=

ciil” KZK jwBimY IcvingU id 60,000/= 60,000/= 60,000/= | 52,000/=

BRyiv eve™ cwld 3,00,000/= 3,00,000/= 2,00,000/= | 2,00,000/=

AhuSK hvbeinibi JyBimY idm 20,000/= 20,000/= 20,000/=

madiE t_1K A 1,00,000/= 1,00,000/= 1,00,000/=

Is vch KR miKvix Abywb 5,70,000/= | 5,70,000/= 5,72,000/= | 572000/=

“vei maliE n vSi 1% A 15,00,000/= 15,00,000/=| 12,00,000/= | 11,00,000/=

miKvixmH Abwyb

miKvix t K el 25,00,000/=| 25,00,000/=| 20,00,000/=

“vorg miKi ciZzéb mH culd 5,30,000/= 5,30,000/=| 25,00,000/= | 10,000/=

Abb" cull 80,00000/= 80,00000/= 40,00000/= | 60,00,000/=

g culd 22,30,456/= | 96,00,000/= | 1,38,30,450= | 1,08,52,000/= | 79,95,100/=

eq

ms ich e'q:

tPouigb I m™mtT 1 madibx 80,700/= | 2,42,100/= 3,22,800/= 4,92,800/= | 4,92,800/=

KgPvix 1 KgKzit™ i tezb fizy 62,500/= | 1,87,500/= 2,50,000/= 2,50,000/= | 2,50,000/=

Ki Arig ere” €79 50,000/= 50,000/= 50,000/= | 50,000/=

icnUs Ges tokbvix 50,000/= 50,000/= 50,000/= | 50,000/=

WK T Zvi 10,000/= 10,000/= 10,000/= | 10,000/=

e~ "yej 36,000/= 36,000/= 36,000/= | 36,000/=

Aidm iyYiteyY 2,50,000/= 2,50,000/= 30,000/= | 55,000/=

Abb" eTq 1,50,000/= 1,50,000/= 2,80,000/= | 80,000/=

Dbgb g3K eq

Kil.cK1 1,00,000/= 5,50,000/= 6,50,000/= 2,50,000/= 60,000/=

v "1 cqb wkb 2,00,000/= 9,00,000/=| 11,00,000/= 5,00,000/=| 15,00,000/=

iv vibgwy 1 tgivgZ 2,00,000/=| 35,00,000/=| 37,00,000/= 25,00000/= | 10,00000/=

Mp vogvy I fgivgZ 2,00,000/=| 12,00,000/=| 14,00,000/=| 15,00,000/= 9,00,000/=

kv KgmPy 2,00,000/=| 10,00,000/=| 12,00,000/=| 10,00,000/= 2,00,000/=

tmP 1 Lvj 2,00,000/=| 11,00,000/=| 13,00,000/=| 20,00,000/=| 20,00,000/=

Abb’ 50,000/=| 24,00,000/=| 24,50,000/=| 12,00,000/=| 12,00,000/=

gl eq 17,89,200/= | 1,10,79,600/= | 1,28,68,800/= | 1,01,48,800/= | 79,84,800/=

mgvchx IR 4,41,250/=| 5,20,400/= 09,61,650/= | 7,03,200/= 16,100/=

Absgytbi Zwil

miPiei Wi

tPouigvibl Wi




MYCRVZSx evsjvt ™k miKvi

“vbig miKvi i,

08bs civamx BDIC , ivgMA, imivRMA|
BDict ewlK evtRU/2013-2014Bs

tRJv: imivRMA | A_ eQi : 2013-2014 Bs|

LiZi big cieZx A_eQtii efRU(UIKY) PJIZ ceeZx A_
bR Znexj Ab'b” Znexj tqw A_eQtil eQiii
erfRU(UWKY) | cKZ(UKy)
1 2 3 4 5 6
nitZ bM” 456 456
e'stK Rgy
tgW cvieK fRi
culid
Ki Avig 2,00,000/= | -- 2,00,000/= | 45,000/=
ciil™ KZK jiBimY IcvivgU vd 60,000/= | -- 60,000/= | 52,000/=
BRuiv eve” culd 2,00,000/= | -- 2,00,000/= | 2,00,000/=
AhuSK hibeintbi jyBimY idm 20,000/= | -- 20,000/=
madiE t_tK Aig 1,00,000/= | -- 1,00,000/=
Is vcb KR miKvix Abyb | ----—--- 5,72,000/= | 5,72,000/= | 572000/=
“vel maGiE n vSi 1% A 12,00,000/= 12,00,000/= | 11,00,000/=
miKvixmH Abwyb
miKuix t K eivl --| 20,00,000/=| 20,00,000/=
“vbrg miKi ciZob mH culd -- | 25,00,000/=| 25,00,000/= | 10,000/=
Ab'b” culd -- | 40,00000/=| 40,00000/= | 60,00,000/=
gl culd 17,80,000/= | 90,72,000/= | 1,08,52,000/= | 79,95,100/=
eq
ms ich e'q:
tPavigb I m™m'1™ i majibx 1,70,000/= 3,22,800/= 4,92,800/= | 4,92,800/=
KgPvix 1 KgKzt™ 1 tezb fizy 2,50,000/= 2,50,000/= | 2,50,000/=
Ki Avvg ele” e7q 50,000/= 50,000/= | 50,000/=
icnUs Ges tokbvix 50,000/= | --- 50,000/= | 50,000/=
WK 1 Zvi 10,000/= | --- 10,000/= | 10,000/=
ie”"yej 36,000/= | --- 36,000/= | 36,000/=
Aidm iyYiteyY 30,000/= | --- 30,000/= | 55,000/=
Abb e'q 2,80,000/= | --- 2,80,000/= | 80,000/=
Dbgb g3K eq
Kil.cKi 2,50,000/= 2,50,000/= 60,000/=
v 1 cqib wkb 5,00,000/= 5,00,000/= | 15,00,000/=
iv vibgwy I tgivgZ ---| 25,00,000/=| 25,00000/=| 10,00000/=
Mp wbgwY 1 fgivgZ ---| 15,00,000/=| 15,00,000/=| 9,00,000/=
kv KgmPx ---| 10,00,000/=| 10,00,000/=| 2,00,000/=
tmP I Lvj ---| 20,00,000/=| 20,00,000/= | 20,00,000/=
Abb” 1200000/= 12,00,000/= | 12,00,000/=
fgl e'q 17,76,000/= | 83,72,800/= | 1,01,48,800/= | 70,84,800/=
mgichx iRi 4000/= | 6,99,200/= 7,03,200/= 6,000/=

bygv™thi Zwil

miPiei Wi

tPoigvibi Wi




